HANDOUT:  LIMITING REACTANTS 


NAME _______________________
1. Consider the reaction:    Fe     +     2 HCl    →     FeCl2     +     H2
in an experiment, 0.40 moles of Fe and 0.75 moles of HCl are combined.
___________a. which is the limiting reactant?

___________b. How many moles of H2 are formed?

___________c. How many moles of the reactant in excess will remain after the reaction has stopped?

___________2. For the reaction:   6 ClO2   +   3 H2O   →   5 HClO3   +   HCl, how many grams of HClO3 are produced when 5.24 g of ClO2 is allowed to react with 0.853 g of H2O?
3. Aluminum reacts with sulfuric acid (H2SO4) in car batteries.  If 20.0 g of Al is put into a solution containing 115 g of H2SO4, 
___________a. which is the limiting reactant?

___________b. How many moles of H2 are formed?

___________c. how many grams of the salt are formed?

___________d. how many grams of reactant in excess is left over?

4. Silver tarnishes in the presence of hydrogen sulfide and oxygen because of the following reaction:

4 Ag   +   2 H2S  +   O2   →   2 Ag2S   +   2 H2O
___________How many grams of Ag2S could be obtained from a mixture of 0.950 g of Ag, 0.140 g of H2S, and 0.0800 g of O2?

5. Under appropriate conditions, acetylene (C2H2) and HCl react to form vinyl chloride (PVC) under the reaction:

C2H2   +   HCl   →   C2H3Cl
In a given instance, 35.0 g of C2H2 is mixed with 51.0 g of HCl.
___________a. which is the limiting reactant?

___________b. How many moles of C2H3Cl are formed?

___________c. How many grams of excess reactant remains after the reaction is complete?

